From Linjing

Question, :
An ellipse s defined by ¥= 20050: 1 8Sin9j + Sk . Findl ate points on the
ellipse at _whidv_y(e) is perpendiciloy o 7'¢6).
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Mence, Hee are 4 points: A (2,0.%9), B(-2,0, %)
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Jce) = 88—(\"8 , which (S an euipse on the plane 2=f.
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7.7'=0 on C <=> 7 % =0 on G,

By dbserwasion , A fé_f”’ , Where p is an avbitrayy poist on O,
and |7 is loctty moximized | minimized at A. B, C,D.

s  [F]"= @) is otso loauty maximized | minimized at A. B.C.D.
by

=Y .aﬁa_(%);z'i’.‘i":o et A.B, ¢, D

S 3 .7'=0 ab the points A(2:0), €(-2,0). BC(o,8), D(0,-8).

é ?-7‘:0 on C ab tvhe FOI‘MS c2,0. ?), (-2, 0. ?)
(o, 8 #), Co,-8 7).



